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HOME SCIENCE
Paper - 11

1, Assertion (A) : Excess of iodine
ingestion can be harmful.

Reason (R) : Excess iodine inhibits
the synthesis of thyroid hormone.

(A) Both (A) and (R) are true

(B} Both {A) and (R) are false
(C} (A} is true, but (R) is false
(D) (A) is false, but (R) is true

2. As per ICMR (2020) the EAR of
Thiamine for a moderately active

man is
(A) 1.2 mg/d (B) 1.3 mg/d
(C) 1.4 mg/d (D) 1.5 mg/d

3. When green leafy vegetables are
cooked in water, their colour
changes to olive green due to the
presence of

(A) Chlorophyll
{C)} Carotenoid

(B) Pheophytin
(D) Anthocyanin

4, When was the POSHAN Abhiyan
launched ?

(A) March 8, 2018
(B) January 26, 2018
(C) May 1, 2018
(D) April 30, 2018
5. Most Probable Number (MPN) test is
used for the analysis of
(A) Meat (B) Blood
(C) Water (D) Fish

1. (ceitel (A) : A1) (Setef Ay US At
A5leA51R5 SlE 24k B.
S1281 (R) : 441 AR [S U18AsS
Shi{lotel] ARAYQLA w2519 B,
{A) (A) 4 (R) tid 1AL B
(B) (A) wel (R) vidl wl2i 8.
(C) (A) AR B U (R) Ul B.
(D) (A) uilg B uid (R) Uy B.

2. ICMR (2020) Y%l HIs2 31sdld
UM Hie elS(Hesl EAR 8.
(A) 1.2 mg/d (B) 1.3 mg/d
(C) 1.4 mg/d (D) 1.5 mg/d

3. i3 dlal yisstdlal 2LsH I
yigidiigamidd R i
dld d w{l(Ga AlAu] ciedis ny 8.
(A) sdlR1sld (B) §lAls162)-l
(€©) 3A8s (D} WeetlAESe{let

4, UINEL (el AR 2> AWM
w1y &g ?
(A} M1 8 2018
B) M1l 26, 2018
(C) 11,2018
(D) 30 ¥[ug, 2018

5. dl2 Vlolwd «iol: (MPN) 22el
GUAL UL (RN HR YA B ?
(a) Hid B) el
(©) uwil (D) Hiedl
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6.

10.

Wernicke’s Korsakoff syndrome is
caused due to deficiency of

(A) Vitamin B1

(B) Vitamin B2

(C) Vitamin B6

(D) Vitamin E

The unexpected and unexplained
death, usually during the night of

an infant younger than 1 year of
age is called

(A) Sudden Infant Death Syndrome
(B) Infant Sudden Mortality

(C) Unexpected Death Syndrome
(D) Sudden Unexpected Mortality

. Resveratrol is a polyphenol present

in
(A) Grapes
(C) Guava

(B} Banana
(D) Apple

Respiratory Quotient (RQ) is an
estimation of

(A) Oxygen (O,} consumption
(B) CO, consumption

(C} Ratio of CO, production and
oxygen consumption

(D)} Energy intake to energy
expenditure

Which of the following vitamins
provides the co-factor for the
transfer of one-carbon units ?

(A} Thiamine (B) Riboflavin
(C) Niacin (D) Folate

6. dl-l} sladsls Resin
GRUA SRS Ay B.
(A) (g1 -B1
(B) (qelldet -B2
(C) {az1f- -B6
D) (qethict -E

7. 9 aNei] itefl GURetl [RAgLe] Al
A AL e[l WAL 2 o

HHAA dal Heya 5&qIMi

g 9.

{A) ASe Soser 3¢ [UeSH

(B) Ses-2 USl k2@l

(C) u=ta15AUSS 3 RoslM

(D) ¥Sel HetvlsaUses HlRetG2]

8. aridla-dl GuRA Aui AU HA S ?

(A) et (B) 3ul

(C) FHEN (D) U6l
9. 3edl sdiele? (RQ) A sl

w2 8.

(A) wil[s08et (O2) AURILL

(B) COz 4yl

(C) CO2 Gelltel Ha 07 qURILISA
A2

(D) Gool W HI2 Giowiedl AUt

10. 1A iniedl 53 (el 25 siol

U SHeAL 2teu 5 UL 5l 352 Y2 ULS
82

(A) ULMHet
(C) (ALl

(B) RoilsAldst
(D) sld2




11. Fortification of salt for iodine is
done by adding the following
(A) Free iodine
(B) Potassium iodate

(C) Iodine sulphate
(D) Iodine phosphate

12, Amniocentesis can lead to prenatal
detection of

(A} Microcephaly
(B} Cretinism
(C) Spina bifida cystica
(D) Congenital infection
13. Which of the following foods are
rich in omega-3 fatty acids ?
i. Lard
ii. Butter
iii. Fatty fish
iv, Olive oil
v. Mustard Seeds
vi. Walnut
(A) i, ii, iii
(B) iii, v, vi
(C) v, vi, ii
(D) wi, iii, iv
14. Amylase Rich Food (ARF) is
prepared by the process of

(A) Fermentation
(B) Malting
(C) Pasteurization

(D) Homogenisation

11, A5 Ysel Hlslelt SLE[32A HI2
GHrai »1d 8.
(A) §l vl (se
(B) ulleuy vip1ise
(C) WAl uS2
(D) w[Set 5122

12. ¥l lu sut (wsled
Sl2selelo] +1£21 52 & 2
(A) w1855l
(B) leilon
(C) Ruell [lsst RiRest
(D) Selofelieied &od52lel

13. (1A eatfcuiniell syl vilts vilo0 3
el ARusel uyee, B8 2
i, eus
ii. ®eR
iil. »0fl quefl siescll
iv. 9] del
V. AG-LERN
vi. duRle
(A) i, i, iii
(B) iii, v, vi
(C} v, vi, id
(D) i, iii, iv
14, AUREAY RY §5 (ARF) <A+l 56
W(BAL gL AUR 5AMI HIA B ?
(A) 18l
(B) Hi[eal
(C) ULAUSHLe
(D) el{lo=tlgHeie




15.

16.

17.

18.

19.

The blood sugar to insulin ratio
suggests that forevery _
mg/dl blood sugar level above the
target range, additional one unit of
insulin should be added.

(A) 20 mg/dl (B) 50 mg/dl
(C) 30 mg/dl (D) 25 mg/dl
The World Health Organisation (WHO)

recommendation for potassium
intake for adults suggests an

intake of atleast mg/day.
(A} 3150 (B) 3510
(C} 3100 (D) 3200

The Therapeutic lifestyle changes

Diet program, suggests the

saturated fat intake to be less than
% of the total calories.

(A) 10% (B) 4%
(C) 5% (D) 7%

What would be the first step for a
new restaurant to develop a HACCP
plan ?

(A) Monitor
(B} Verify

(C) Hiring a consultant
(D)} Conduct a Hazard Analysis

When the independent variable is
only partially under the control of
the researcher, the research design
is considered as

{A) Experimental
(B) Correlational
(C) Descriptive

(D) Quasi-experimental

15.

16.

17.

18.

19.

0ES YAAR W B (Aot 1AL Yud B
3 qe Arlell Gurell £35 mg/dl
6fS YURell R HER, Bey(Getoi)
qulRlell 1 Y2 Gl g3,

(A) 20 mg/dl (B) 50 mg/dl
(C) 30 mg/dl (D) 25 mg/dl
des dee w{13eA18BeUed (WHO) Yusd
qustt dlsl M2 Y2l Adstefl

ST EMERTETEME| mg/(eay
yud 8

(A) 3150 (B) 3510

(C) 3100 (D) 3200

del Al URddet vilsR S1dsH

@R0Y2Ls d1ps 1o Side UAM)

YU D5 AqH YRvilef Adel 56 Tglsit
% Sl vl el oxleful.

(A) 10% (B} 4%

(C) 5% (D) 7%

HACCP dl%weil (qsuigat uie «dl

ReRee Hle uuy yag ¢f sl ?
(A) vleisidsl

B) usiufl

(C) dalssR [AHYSs 5

(D) luH [qNe 52

R ¥dA dRAWY HiA w((s 2ld
Agtltietedl (Ul dsn Sly B, U

A2dlued [SHI8eia dlk
ARG M| ¥ B,

(A) dsHURNe2q

(B) 5 RAgi-d

€) Sksluéla

(D) sl AsAURA2q
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20.

21.

22,

23.

Research design that needs to
collect factual data on a continuing
basis is classified as

(A) Longitudinal study design
(B) Cross sectional study design
(C)} Retrospective study design

(D) Double blind placebo control
trial

Small wide darts are most suitable

for a person having

(A) Heavy bust and thin waist
(B) Small bust and thin waist
(C) Heavy bust

(D) Small bust and pigeon chest

Skin friendly wear, air permeability
and moisture take up properties
come under

{A) Aesthetic properties of wear
{B) Psychological properties of wear
(C) Physiological properties of wear

{D) Chemical properties of wear

Before cutting a pila of fabrics,
pattern drafts are arranged to get
least wastage and the process is
called

{A) Pattern making
(B) Planogram

(C) Fabric layering
(D) Marker layout

20.

21.

22.

23.

Ad2dltet [SHOet X Bal Ucdd WG divdl
qHY Y] sslsdde]l Hilsdl 2AsfAd

salefl ¥ B del widd adlsd

5 H 241d B,
(A) dlyslad 23] [SHteet

(B) 514 As2Uetd @25} (SH18et
©) Nséla 28] [SHip-t
(D) SHd 6819 QRloll $2let [SHLEe

ool USlont Ste el 419y 41 caysd
HI2 €l

(Aa) MR Bl 24 uldoll s12

@) °ti=ll ¥idl w1 uideil su2

(C) MR 8idl

D) “lleil Bl 4 Wlowel &1

cAUlel woigon, adl sdledl weledt
ol Ao ASYL SAIeAl IR0

1id 8.

(a) adleil Aledeef]l el

(B) d¥ileil Helldstifels QQuusl

(©) a¥lletl AR S il

(D) d¥lall AA1AMS el

51USell 2adl sludl uédl {eui
w1e9) WALS Ul A HIR Vesl Sl
AsaciMi x11d B, 2L ulsyla g
5&dd] A B 2

(A) Ve A(3a1

(B) W=l

(€) Blois QUi

(D) 152 Au1Ge




24. Which of the following does not| o4, {dAW(@fudniell gf vaives -2islelt
describe the functions blind stitch

machine ? H9(ledo] At 524 <teil ?
(A) Used for hem stitching in a (A) SIUSHi & RelUat Hi2 augy &
garment (B) @A 2i51 VUG (invisible) &

(B) Stitches are almost invisible
(C) Uses chain stitch setting

(D) Very small stitches are visible (D) ade{l oxll 611 ifd <ii-l 2isl
on the right side of the garment PANILINS

(C) uisn 2isl Alorell GUAIL 53 &

25. An azo dye is formed by an interaction | 25. YMd Sludl-{lud sdRlvs sul

of an aromatic diazonium chloride AAowet A1 (sa-uldlsal grzi 201
with which compound ? S WL D ?

(A} Phenol (a) §lela

(B) Aliphatic primary amine ®) Ad5els wiafis 1S

(C) Benzene (C) Wil

(D) Nitrous acid (D) <lo2d ARLs

26. An example of B2B services offered | 26. 32l gIt wudidi vladl ofl 2 oil
by google which gains gdvert{sing (B to B) {L[atll A5 Gelswl 2
revenue through hosted videos is ot g2l et lRaluiell st

(A) Google adwords UG5 Jug B,

(A) e sy

(B} Google apps business application B) e W UL YRGS

suite
2 (suite)
(C) YouTube brand channel (C) Y U olt-s Aeld
{D) Google apps for customers (D) ALES] HI2 1 W

27. Anti static finish is used to prevent | 27. ¥ZlR&ls (sl Guala ulduiy

{A) Moth attack on wool 5l UL
(A) Gel GUR sl2+il gHdl

(C) Increases electric discharge in a (B) Hlots [Gueiat Asq .
fabric (C) stusHi 545215 (Sl ad B

(D) Improves insulation of a fabric (D) 50USe 8ejdole QUi B

{B) Prevents clinging of fabric
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28.

29,

30.

31.

32.

In a honey comb weave repeating on

eight ends and eight picks, the lowest

point of the honey comb cell formed

on the fabric lies at the intersection of

(A} The fifth warp thread with the
fifth weft thread

(B) The fourth warp thread with the
fourth weft thread

(C) The fifth warp thread with the
fourth weft thread

(D) The fourth warp thread with
fifth weft thread

Automation in an apparel unit is

advantageous to manufacturer

through

(A) Increased productivity, improved
HR and staff reduction

(B) Increased quality assurance,
improved financials and more
machinery

(C) Increased productivity, staff
reduction and consistant
quality

(D) Improved machinery, reduced
staff and better marketing

Surface features of a fibre can be

obtained by

(A} Transmission electron
microscope

(B} Sonic modulus tester

(C) Scanning electron microscope

(D) X-ray diffractometer

Density of a cotton fibre is
approximately

(A) 1.52 denier (B) 1.53 g/cm3
(C) 1.52 gpt (D) 1.53 denier

Which fibre is widely used in
geo textiles ?

(A) Polypropylene (B) Polyester

(C) Kevlar (D) Acetate

28.

29.

30.

31.

32.

Seil sl artiati ¢ drll el ¢ dislie
lj,ﬂi?_lclc{d (repeating) lel «{1Ael
Yloee esflslol Ad: 5(US U Wadg
1ol o228 520t UR B

(A) winni dlailedl 13 uiyHl aiil
(B) Aleil dltietl 213 Alell a1l

(C) WiuMi dieiteil 215 Al ateil

(D) Alal dislled] 23 yiuHl atel

ax Yleteni vl 2l ele Gautesl
(manufacturer) 4l §IULIS1RS

ola3 9.

(A} GeuleSdldi qulR) 3HIR] HR MU
el 21EMI HeLS]

(B} ay@iadief] Widui aulr), YuiRa

ALRALS1A WA gy Heleid]
(C) GeulesdiHi ayR), 141 gelst

el Al IRttt
(D) YuId Heile], 2LsHi telsl v

> usEal

2=l Au1leAl QNI iledl gl

Hadl sy 8
(A) 2l (Mol paAselet HISSISIU

(B) AllAs HlEA 2222
(C) W[e1d1 HaAs2lA HISHISIY
(D) Asu- 3 [Shseller

Biel% Yd21G wtledl eeidl (density)d.
(A) 1.52 denier (B) 1.53 g/cm?
(C) 1.52 gpt (D) 1.53 denier

il 2sU2IBEH] SAUL SO Us
GualdL Y B ?

(A) Q€] vludle
(C) 3qd:

(B) Ulelaler
(D} 22
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33.

34.

35.

36.

Rohit Bal is an Indian Designer
known for integrating

(A) Abstract designs into clothing
(B) Geometrical designs into
clothing

(C) Traditional Indian designs in
clothing

(D) Circular designs into clothing

The following structure of wool
facilitates its dyeing

(A) Amorphous structure

(B) Hydrophobic structure

(C) Crystalline structure

(D) Hydrophillic structure

When two or more monomers combine

together without the elimination of
H,0, HCl or CH,OH it is called as

(A) Co-polymerization
(B} Addition polymerization
(C) Condensation polymerization

(D) Block polymerization

Which designer is known for the Little
Black Dress ?

(A) Donatello Versace
(B) Coco chanel
{C) Pierre cardin

(D) Georgio Armani

33.

34.

35.

36.

Aled ulig 215 dld (SHLF B,
% W55 UL A ildl 8.
(A) suSIHi Awese [Sr1e=y

(B) sustHi rIARS [Sxhlee

(C) SUSIHI U2 eIl
[SA1e-

(D) suStHi dduistz Sxieey

(Aul(cfuid Glotell UalL SIOAA HeePY
oY 8,

(A) 154 My
(B) s1oslsllois Hiony]
(©) [s2241851 HIoy|
(D) s18s1(s(es iy

R H,0, HC! 5 CH,OH 4 g2 sul wtR
A% dell ag WellH aboi auy 8. AR

dl 9] s&AMi A & ?

(A) s WldlHABMLA

(B) BN (addition) UlEIHASHUeA
(C) 532U WEIHAUSH A=A

(D) odls WEIHRASHUA

54| [SHIBeR ‘[@2q vas S HI2
yuld 8 7

(A) Sletleel QU
(B) 5151 A=l

(C) [QaR 5L+

(D) oi\ 5] 2424t
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37.

38.

39.

Which of the following traditional
Indian textiles does not use human
figures in designing ?

(A) Patta Chitra

(B) Irkal

(C) Kalamkari

(D) Madhubani painting

Which of the following is used to

mass produce T-shirts having large,
multicoloured designs ?

(A) Foil printing

(B) Screen printing

(C) Block printing

(D) Roller printing

Which one of the following research

designs is best suited for testing
bias ?

{A) Multi-method research design

(B) Alternative treatment design with
pre-test

{C) Pre-test post-test control group
design

(D} Solomon four group design

. The statistical test that can be used

if more than two independent groups
are to be compared on a quantitative
variable

(A) Chi-square
(B) ANOVA

(C) Z-test of difference between
independent groups

(D) t-test of difference between
independent groups

37.

38.

39.

oAl (il 54 URURAALd HRAY SIUS
(SAO ] Hivla 2415{dulen GUAA
53¢ =18l 7

(A) uzldA

(B) 9254

(C) sausl

(D) Myoieil Usle2ol

el Hle 548 [S»loed Hlad ] wsesijoiy
2121 Geulesl HI2 «(lAst1niel]l el Gl
YR B ?

(A) 51049 [l

(B) slet {ul-2al

(C) udls [Ul=2at

(D) Az Ml

ydausstt uleel Hi2 «Astimiell 53
Ay {A4AQ [SHIBe 53 D
(A) HEZl-RYS it [SH1pe

(B) [M-22 WA A5(Eys (SHisel

(€) ul-2 U222 5214 Yu
(Sah18et

(D) AldB{let AR YU [SHLost

. wissislu sAl2ledl Guyla sl sy

8, %\ W 53 ay d= =l ga-il

ULALLS UG UR Sl«f] Sl

{A) si-wAR

(B) el

(C) PS-2 ¥l§ (S5 viledlst
(50502 Y

(D) 2l- 222 wils [Sse vfledlet
§[5UsSe2 Y1y
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41,

42,

43.

A crucial stage in the product
development that occurs early in
the process and helps in identifying
user needs and wants is

(A) Idea screening and
documentation

(B) Concept development and
testing

(C) Idea generation

(D) Market commercialization

The process of decomposition of
biodegradable solid waste by earth
worms is

(A) Decomposing
(B) Disintegrating
(C) Crumbling

(D} Vermicomposting

The system that affects the family
system through laws, regulations,
protection and other services is

(A) Political system
(B) Social system
{C) Psycho system
{D) Public system

. What are the short draperies

usually about a foot long that
hang over the top edge of curtains
covering a rod or shaped form at
the tops of the windows called ?

{A) Shades (B) Valances
(C) Tie backs (D) Tiers

41.

42,

43.

Geulest [AsyH Fallas dolss), @
Ulsalefl gleutidui 2id 8 w4
dAuRAeLsd[ofl seRULd] 4 HidAa
wluwaMi Hee 53 9.

(A) 265(sUl sl 214
3 1A%) 5L
(B) sedre 3adluiles uist ulaal
(C} wsS(SUL 2et3tst
(D) womire} AUIRLSL

W [AAL G WRL(SASHE €t
s5U2Uell [daeeief]l ulsdla gf séalui
31d & ?

{A) sisudl[>a1

(B) slus-glAlea
(C) sHoi(da
(D) al snilRea

SIAEL, [AUH], 213l el et Al
Sl21 5304 cugella R Sdl

Rizeud g séqu B ?
(A) Uessiy cude)
(B) AlML[rs cugrell
(C) A5l cugel
(D) & cudelt
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45. The placing of various rooms of 45. MSiaell {dan 21150 AHedl siiledL
a buil.ding in proper (-:orrelatior.l 41y AoiyHi Ysdl, % (Gleione3]
of their functions which helps in SEoUGe, A1 USEet, UL (P14

saving unnecessary movements,

proper correlation, easy control and il 2562 eldAR wRAIdMI Hee

overall economy is known as 28d__ dilBulamiu s,
(A) Assembling (A) AWuidloy

(B) Clustering (B) saeilat

(C) Grouping (©) Mt

(D) Dispositioning (D) (Salsetliat

46. The time sequence without definite | 46. 3] ¥YuA«ll $4, BH] ULs5A UHY

time limit is called . :
e St is cafle HYlel o 1A ddl AU sHA 8] s&dlA
(A} Series of projects 8 ?

(A} ulseueil A4l

B) Ord f ject
(B) Order of projects (B) WRs2el] su

(C) Chain of projects (C) WiBsu-il disn
(D) String of projects (D) WlBse«(l €)1l
47, Maximum height of a kitchen 47. 1Skl 51G-22 21us{l HedH B,
counter top . .
(A) 24 inches {(B) 38 inches (A) 24 Y (B) 38 8Y
(C) 44 inches (D) 48 inches (C) 44 8y (D} 48 &Y
48. The feeling of tiredness and desire 48. W5 UM sIH sul gl eisel
to stop working after doing same A1l 214 S1H Sqls] vit 541
amount of work is known as 5249 Ay sl 8
{A) Acuteness (B) Drowsiness (A) dlstil (B) Yl
(C) Fatigue (D) Swiftness (C) uls (D) »sdldl
49. The right to be protected against 49. ¥ U [H(UH, B W21 A&d] et
products, production processes HE2 WM Gaulesil Gallesl
and services that are hazardous to ulGadl 214 A AR @

health or life is

(A) Right to safety noadie] 21[6siR AN 8,

(A) deHleAl wEs1R

(B) R%ght to information (B) ISl »i[a512
(C) Right to redressal (C) (el et} vi{us12
(D) Right to choose (D) w2ie sqlell 24lus12




50. The measurement that is used to 50. (Lol 234l 1S (k2591 a5y HI2
design the maximum allowable

bench height for standing worker HETH 2o (AUl Y-l GlULE
{S»18e 52l M GUAMI 59 HIY

(A) Standing eye height Aqrl B ?

(B) Standing knee height (&) R[591 wiviell Quts

(B) R[5 geuaiedl QluLe

C) Standing elbow height -
(C) Standing elbow heig (© R[5 56l Gt

(D) Standing hip height (D) R[5 Ylul-il QIS
51. The process of familiarizing the 51. «iq| sl Hrellel () w1
new employees to the rules and
regulations of organization is called (1]l U.ﬁ.ﬁlf‘i stiqdlell ulsuiA
_ séqiMiwId 8.
(A} Evocation (B) Introduction
(A) dlbele (B) uRuy
(C} Induction (D) Agreement (C) Br55lel (D) 5K
52. The mostdesirable activity tomaintain | §2, 85! 22U waddl Hi-{l Alefl
ecosystem is by conserving e2690i| uq[a °i de1
(A) Air and water salel YA 8.
(B) Forest and wildlife (A) sal w4 el

(B) del = ARI%Hde]

(C) wl2Us U4 A4
(D) Water and wildlife (D) Ulsil 244 deyaal

(C) Food and forest

53. The style of furniture in which the | 53. 3 gleuRe{l A, Pui ds Il w4
curved lines and shapes are used is 151310 GUAAL S22

{A) Rococo furniture A) A4 sER

(B) Gothic furniture (B) s 5[;‘1‘,41
(C) Baroque furniture (€) AAs sl
(D) English furniture (D) i slduR
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54.

55.

56.

57.

58.

Apparent width of a room can be
increased by using

(A) Vertical lines and dark colours

(B) Horizontal lines and primary
colours

(C) Vertical lines and secondary
colours

(D) Horizontal lines and light
colours

The taxes that are levied on individuals
or organizations and must be paid
directly to the government is

(A) Direct taxes

(B} Indirect taxes
(C) Intra taxes

(D) Individual taxes

The term used to refer printed
information affixed on a product
communicated from manufacturer
to consumer is called

(A) Tag {B) Docket

(C) Plate (D) Label

While innovation involves in
introducing new products and
ideas, entrepreneurship focuses on
(A) Training the youth

(B) Viable business opportunity

(C) Uplifting the women
entrepreneurs

(D) Educating the youth

Installing grab bars in bathrooms is
an essential feature to be incorporated
while designing for
(A) Children

(C) Elderly

(B) Women
{D) Youth

54,

55.

56.

57.

58.
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(A) Gledl w1 W g1 2300

(B) w1S| 113l e YielHs 220
(€) Gl 14l wA AN 220
(D) 1S] 3w 12] W g1l 20

% 53 Sl weldl He) U
qlediHi vild & wel AR Ayl
ysadl wleul

(A) Ui 52

(B) ulel $2

(C) Aid 82

(D) cufsdatd 52

Gaulesl Guelsdl Yl HReleudslRd

Gedleet U ULt (Uo2s HIfEdleAl deel
WAL HI2 dudl 21oe 5L B ?

(A) 23 (B) Sike

(€) e (D) dud

o3 oAdloldL Hi digl Gllesdl w4
(QulRle=tl quldel Ut & iR Galal
Alssdl U rlel Slegd 52 8.
(A) ydlellat didly

(B) ac $ld 28l 213 Adl AdYIRS ds
(C) ulsal AlsRisla Gt wiug
(D) Ydleil [R1&sl +iug

o4 1811 | YsSdletl el (Glut 6lIR)
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59.

61.

62,

To study the differences in time
consciousness among adults and
adolescents, when the researcher
divides the population into two
groups based on their age and
select the sample at random
from each group, the sampling
technique adopted is called

(A) Cluster sampling

(B) Area randomized sampling
(C) Stratified random sampling
(D} Purposive sampling

The ability of a measuring
instrument to measure what it is
supposed to measure is known as

(A) Solidity (B) Validity
(C) Dependability (D) Reliability
The misshapen or elongated condition

of a neonates head is a result of a
birth process called

(A) Molding
(C) Crowning

(B) Effacement
(D) Anoxia

Ridhima, an infant, is maturing
according to the predictable pattern
of maturation, from the centre of the
body (midline) outward. This pattern
is called

(A) Prehensile reaching

(B} Cephalocaudal development

(C) Proximodistal development

(D) Fine motor skills

59.

60.

61.

62.

Yucddell 4= (AU 24341
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o el (qeilfEsc 53 B wa e3squnidl
3051 A oiell U 53 O, R A tielledl
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(A) see: Anufday

(B) A3t w5y Awy(do

(C) 215165 sy Anilday
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63.

65,

66.

67.

The following is NOT an example of
Pre-school Program

(A) K12

(B) Reggio Emilia

(C) Bank Street

(D) Montessori

. Evan Pavlov proposed the theory of

(A) Morality

(B) Psychological conditioning
(C) Operational conditioning
(D) Classical conditioning

Arhaan has suddenly gained height
and his voice has changed. This
transitional phase is called

(A) Childhood

(B) Adolescence
(C) Adulthood

(D) Early childhood

Which of the following is NOT a
feature of emergence of adulthood ?

(A) Identity explorations

(B} Self focussed in life

(C) Strong peer conformity

(D} Age of possibilities

Readiness to undergo the ceremonies
and rituals of marriage with sufficient
understanding of their symbolic
meaning

(A} Psychological readiness

(B) Physiological readiness

(C) Economic readiness

(D) Social readiness

63.

64.

65.

66.

67.
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(C) Yudideell
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68.

69.

70.

71.

72.

If a young adult sees stealing as
wrong, because of the harm it brings
to someone, which of Kohlberg'’s
stages are they displaying ?

(A) Punishment and obedience
orientation

(B) Good boy good girl orientation
(C} Legalistic orientation
(D) Social order orientation

Identify the behavioural problems

among the following.

(A) Depression, anxiety and dancing

{B) Aggression, depression and
anxiety

(C) Aggression, anxiety and pain

(D) Anxiety, painting and dancing

Sohana is prejudiced against her old
grandmother. Such prejudice against
older adults is called

(A) Ageism (B) Eldercare

(C) Sexism (D) Racism

Which of the following motivates,
focusses energy and improves
performances

(A} Eustress
(C) Stress

(B) Distress
(D) Euphoria

Type of family where authority lies
with the woman head of the family
with the males as subordinates is
(A} Patriarchal family

(B) Matriarchal family
(C) Matrilocal family
(D) Extended family

68.

69.

70.

71.

72.
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73.

74.

75.

76.

77.

The RIASEC model is used for the
following intervention.

(A) Geriatric counselling

(B) Career counselling

(C) Marriage counselling

(D) Counselling the slow learners

Alzheimer’s disease is a form of
dementia that involves
(A) Senescence and arthritis

(B) Brain and lung damage

(C) Structural and pathological
deterioration of brain

(D) Structural and chemical
deterioration of brain

Which of the following Legislations
and schemes is NOT related to the
welfare of the eiderly ?

(A) NPOP, 1999

(B) Maintenance and Welfare of
Parents and Senior Citizens
Act, 2007

(C) RTE, 2009

(D) IPOP, 1992

Dysfunctional family environments
leading to delinquency among
children, are characterized by the
following except

(A) Poor supervision

(B) Neglect

(C) Friendly parent

(D) Lack of positive role models

The following are some of the common
delinquent offences except

(A) Vandalism

(B} Drug abuse

(C} Underage drinking

(D} Helping underprivileged

73.

74.

75.

76.

77.

(RIASEC) H15€loll GUlal w{«fa1 (3]
S|AAU Hle U B

(A) geglaeil yluel

B) 3Ru2 utHel

(€) @ w1l

(D) lHL 2u1Ge] uatnel

U SHR A2 W (SHl-R11 Bs

AR B, BHI o{lAel] MM (AL UYL B

(A) deglarell ¥a ¥(Hal

(B) Ho%s ¥al SsUlal o SsHUlet

(C) Hologell HiNuiEs1Y wat
Adasiiella «arts

(D) Aot HIOWLSIY w4 AALU(AS
WIILS

ol AeA (18] 5AL SI”ALL Slofed Bl

Alogetludl qegleti sl A18 Aoilad

o] ?
(A) NPOP, 1999
(B) Hldl [Udl 24 aRB i [R514(l

o] uel sey A [E[AyY 2007
(C) RTE, 2009

(D) IPOP, 1992
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78. Neera took care of her family after
her alcoholic husband’s death due to
her strong will, good communication

skills and resourcefulness. It is
known as

(A) Family alienation

(B) Family resilience

(C) Family resourcefulness
(D) Family strength

79. The type of statistics used to
summarize and describe the main
features of a data set, such as
central tendency, variability and
distribution is called
(A) Inferential statistics
{B) Data statistics
{C) Descriptive statistics
(D) Ratio statistics

80. In an experimental study if the
researcher is trying to find out how
one variable affects another, the
variable that is being affected is
called
(A) Independent variable
(B) Ordinal variable
(C) Dependent variable
{D) Intervening variable

81. The way message is handled before
placing on the channel is termed as

(B) Decoding
(D) Distortion

(A) Coding
{C) Treatment

82. National Food Security Mission was
launched in the year

(A) 2007 (B) 2008
(C) 2009 (D) 2010

78. <113 dell H8UIA 5112 Wldell Yy
yedl de{l Hesoyd Se91eilsd, ARl
dldyld 51216 vl 51614 gIRL detl
YR+l deilon €yl d 2lamiy 8.
(A) S1S(0s (ayuldl
(B) 51¢(6s [Relldeuusdl
(C) 5108 sloryo
(D) Stélas ulsd

79. S21d2ell Yoy qail o 3 =gy a4l

URddet &Hdl A [Adeuell HiRigle]
ARlel 5L HI UL BisSIueAl
USIR.

(A) WogHileAd Aisst

(B) 32l Aissl

(C) asletiets viiss!

(D) 2ARIldR Aissl

80. yRIALS weA i %) dellus vl
etltaiell uALe 530 Wil B 5 vs g
oilot U 3dl Ad 2A 5T B, Al B U
ueilldd 4 @) 8 da se&diui 1id 9.

(A} 2ddA U4 (independent)

(B) ¥{1(3e1q gl

(C) ¥IBId UG (dependent)

(D) ex(ui=1d1R] ¥4 (intervening)

81. Aelq U Y5dl uddl qeall ol % Id
&5 52 w1 B d4
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{A) 513 (B) slsl(3a
() Eladlee (D) ([S)elet

82. 24 §5 RIKYRZ] (Hatotsfl 2Awild
AN s wtidl edl.
(B) 2008
(D) 2010

(A) 2007
(C) 2009




83.

84,

85.

86.

87.

The S-M-C-R-E model of communication
was proposed by

(A) Harold Lasswell

(B) Rogers and Shoemaker

(C}) Shanon Weaver

(D) Aristotle

The application of commercial
marketing strategies for diffusion of

non-profit products and services is
known as

(A) Digital marketing

(B} Social marketing

(C) Information marketing

(D) Promotional marketing
Which of the following Committee

has been constituted for doubling
farmers income by 2022 ?

(A) Ashok Mehta Committee

(B) Sachar Committee

(C) Ashok Dalwai Committee
(D) Naresh Chandra Committee

Which of the following is NOT a
dimension of Human Development
Index ?

(A) Health

(B) Education

(C) Employment

(D) Standard of living

The theory which says behaviour
change is determined by environment,
personal and behavioural elements

(A) Theory of reasoned action
{B) Theory of planned behaviour
{C) Social cognitive theory

(D) Transtheoretical model
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89,

90.

21.

92‘

93.

94,

The flow of communication in
transistor radio is

(A) One way
{C) Three way

(B) Two way
(D) Tetra way

The practice of development support
communication is

(A) Multisectoral
(B) Unisectoral
(C) Bi sectoral
(D) Tri sectoral

Therukoothu is a street theatre of
(A) Karnataka (B) Tamil Nadu
(C) Telangana (D) West Bengal

The state with highest female literacy
rate in India is

(A) Maharastra
{C) Rajastan

{B) Kerala
(D) Gujarat

The T and V system of extension was
first introduced in

(A) USA
(C} India

(B) Israel

(D) Japan

A course of proposed action to
change an unsatisfactory condition
is referred as

(A) Situation (B) Solution

(C) Problem (D) Objective
Which of the following teaching
method is preferred to impart skill ?

(A} Conference
(B} Method demonstration
(C} Seminar

(D} Result demonstration
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95.

96.

97.

98.

99,

100.

The central part of effective teaching
learning is

(A) Subject matter

(B) Physical facilities

(C) Teacher

(D) Learner

Panchayat Raj Institutions are
intended to strengthen

{A) Structural planning

(B) Functional planning

(C) Indicative planning

(D) Multilevel planning

United Nation’s mandated principal
organisation which is responsible for
communication
(A) UNESCO

(C) WTO

(B) UNICEF
(D) WHO

The planning commission was
replaced with in 2014.

(A) Atmanirbhar Bharat

(B) Stand up India

(C) NITI Ayog

(D) E-Governance of India

Which of the following statistical test
is used to test the performance of the
trainees before and after completion
of the training programme is

(A) Paired t-test

(B) Correlation

(C) Regression

(D) Linear Regression

Basic requirement of a scientific
writing is

(A) Non factual statements

(B) Non judgemental

(C) Freedom from prejudice

(D) Generalised views
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